PB

teen

Customize -it Desk Trestle Pedestal

PRE-ASSEMBLY:

e Please read all instructions before assembling.
e Two or more people is recommended for assembly.

e Save all packing materials until assembly is complete to avoid accidentally discarding smaller parts or
hardware.

TOOLS REQUIRED:

N

8- Allen Wrench 4MM 9- Allen Wrench 5MM

PARTS INCLUDED:

< ~

A - Connecting Panel B - Top Shelf Panel C - Bottom Shelf Panel D - Leg - 8pcs
- 2pcs - 2pcs - 2pcs

HARDWARE LIST:

1 - Long Bolt ®1/4" x 35mmL 2 - Lock Washer ®1/4" 3- Flat Washer ®1/4"x12mm
- 32pcs - 32pcs - 32pcs
4 - Short Bolt ®5/16" x 28mmL 5- Lock Washer ®5/16" 6- Flat Washer ®5/16"x16mm -12pcs
- 12pcs -12pcs
=

7- Dowel ®8x30 - 16pcs

www.pbteen.com Page 1 of 4




ASSEMBLY INSTRUCTIONS:

Step 1 : Attach Legs(D) to Top Shelf(B) and Bottom Shelf(C) using long bolts(1) , locker washers(2) and flat
washers(3) , tighten by hand at first, securely tighten the bolts with Allen wrench(8), but do not over tighten the
bolts.

Step 2: Attach Connecting Panel(A) to Legs(D) using long bolts(1) , locker washers(2) , flat washers(3) and
Dowel(7) , tighten by hand at first, securely tighten the bolts with Allen wrench(8), but do not over tighten the
bolts.

www.pbteen.com Page 2 of 4




sing short bolts(4) , locker washers(5) and flat

ely tighten the bolts with Allen wrench(9), but do not over tighten the

Step 3 : Attach Trestle Pedestal to Top( Sold Separately) u
s(6) , tighten by hand at first, secur

washer

bolts.

\WL0EY

Q \\ / / \
\\ /

Page 3 of 4

www.pbteen.com




CARE INSTRUCTIONS:

® Wipe with a soft, dry cloth.




	Customize -it Desk Trestle Pedestal-1.pdf
	Customize -it Desk Trestle Pedestal-2
	Customize -it Desk Trestle Pedestal-3
	Customize -it Desk Trestle Pedestal-4

